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Consider the following equations written as factoring problems.

Ex2 + Fx + G = (ax + b)(cx + d) 

Algebra I   Unit 11   Factoring Trinomials - Type 2

The purpose of this part of this lesson is to demonstrate how to factor ‘type 
2’ trinomials.  These are trinomials where the leading coefficient is not 1.  In 
the last equation above, there are two important relationships that must be 
understood: (1) ac = E and (2) bd = G.  In many problems, there will be 
several values of a, b, c, and d that may work.  The correct combination is 
the one in which ad + bc = F !! (You find the outer product and the inner 
product and make sure they add up to the middle term.)

25x

-4x

6x2 + 29x + 35 = (2x + 5)(3x + 7) 

20x2 + 21x – 5 = (5x – 1)(4x + 5) 

6x2 – 25x + 14 = (3x – 2)(2x – 7) 

8x2 – 26x – 45 = (2x – 9)(4x + 5) 

Fx



Consider the following equations written as factoring problems.

Ex2 + Fx + G = (ax + b)(cx + d) 

Algebra I   Unit 11   Factoring Trinomials - Type 2

The purpose of this part of this lesson is to demonstrate how to factor ‘type 
2’ trinomials.  These are trinomials where the leading coefficient is not 1.  In 
the last equation above, there are two important relationships that must be 
understood: (1) ac = E and (2) bd = G.  In many problems, there will be 
several values of a, b, c, and d that may work.  The correct combination is 
the one in which ad + bc = F !! (You find the outer product and the inner 
product and make sure they add up to the middle term.)

-21x

-4x

6x2 + 29x + 35 = (2x + 5)(3x + 7) 

20x2 + 21x – 5 = (5x – 1)(4x + 5) 

6x2 – 25x + 14 = (3x – 2)(2x – 7) 

8x2 – 26x – 45 = (2x – 9)(4x + 5) 

Fx



Consider the following equations written as factoring problems.

Ex2 + Fx + G = (ax + b)(cx + d) 

Algebra I   Unit 11   Factoring Trinomials - Type 2

The purpose of this part of this lesson is to demonstrate how to factor ‘type 
2’ trinomials.  These are trinomials where the leading coefficient is not 1.  In 
the last equation above, there are two important relationships that must be 
understood: (1) ac = E and (2) bd = G.  In many problems, there will be 
several values of a, b, c, and d that may work.  The correct combination is 
the one in which ad + bc = F !! (You find the outer product and the inner 
product and make sure they add up to the middle term.)

10x

-36x

6x2 + 29x + 35 = (2x + 5)(3x + 7) 

20x2 + 21x – 5 = (5x – 1)(4x + 5) 

6x2 – 25x + 14 = (3x – 2)(2x – 7) 

8x2 – 26x – 45 = (2x – 9)(4x + 5) 

Fx



Consider the following equations written as factoring problems.

Ex2 + Fx + G = (ax + b)(cx + d) 

Algebra I   Unit 11   Factoring Trinomials - Type 2

The purpose of this part of this lesson is to demonstrate how to factor ‘type 
2’ trinomials.  These are trinomials where the leading coefficient is not 1.  In 
the last equation above, there are two important relationships that must be 
understood: (1) ac = E and (2) bd = G.  In many problems, there will be 
several values of a, b, c, and d that may work.  The correct combination is 
the one in which ad + bc = F !! (You find the outer product and the inner 
product and make sure they add up to the middle term.)

6x2 + 29x + 35 = (2x + 5)(3x + 7) 

20x2 + 21x – 5 = (5x – 1)(4x + 5) 

6x2 – 25x + 14 = (3x – 2)(2x – 7) 

8x2 – 26x – 45 = (2x – 9)(4x + 5) 



Consider the following equations written as factoring problems.

6x2 + 29x + 35 = (2x + 5)(3x + 7) 6x2 – 25x + 14 = (3x – 2)(2x – 7) 

20x2 + 21x – 5 = (5x – 1)(4x + 5) 8x2 – 26x – 45 = (2x – 9)(4x + 5) 

Ex2 + Fx + G = (ax + b)(cx + d) 

Algebra I   Unit 11   Factoring Trinomials - Type 2

The purpose of this part of this lesson is to demonstrate how to factor ‘type 
2’ trinomials.  These are trinomials where the leading coefficient is not 1.  In 
the last equation above, there are two important relationships that must be 
understood: (1) ac = E and (2) bd = G.  In many problems, there will be 
several values of a, b, c, and d that may work.  The correct combination is 
the one in which ad + bc = F !! (You find the outer product and the inner 
product and make sure they add up to the middle term.)  Good luck.
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11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________



Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)
2x

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________



Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)
2x

5x
11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)
2x

5x
11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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11.   2x2 + 7x + 5 = _______________
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11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)
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11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 
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Factor each of the following.

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)
20x

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)
20x

3x

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)
20x

3x

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Factor each of the following.

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)
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Factor each of the following.

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)

(3x      )(x      )



Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)

(3x + 1)(x + 2)



Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)

(3x + 1)(x + 2)
6x

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)

(3x + 1)(x + 2)
6x

1x

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)

(3x + 1)(x + 2)
6x

1x

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________
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Factor each of the following.

11.   2x2 + 7x + 5 = _______________

12.   4x2 + 23x + 15 = ______________

13.   3x2 + 7x + 2 = _______________

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(x + 1)

(4x + 3)(x + 5)

(3x + 1)(x + 2)



14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________
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Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx



14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x      )(2x      )



14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________

Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)
6x

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)
10x

6x

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)
10x

6x

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)

(2x      )(x      )
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Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)

(2x – 3)(x – 1)
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Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)

(2x – 3)(x – 1)
-2x

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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E = ac G = bd adx + bcx = Fx
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-3x

-2x

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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E = ac G = bd adx + bcx = Fx
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15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)

(2x – 3)(x – 1)

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________



14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)
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14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)

(2x – 3)(x – 1)

(3x – 1)(x – 3)
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)

(2x – 3)(x – 1)

(3x – 1)(x – 3)
-9x

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)

(2x – 3)(x – 1)

(3x – 1)(x – 3)
-1x

-9x

14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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Ex2 + Fx + G = (ax + b)(cx + d) 
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(2x + 5)(2x + 3)

(2x – 3)(x – 1)

(3x – 1)(x – 3)
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14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________

16. 3x2 – 10x + 3 = _______________
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E = ac G = bd adx + bcx = Fx

(2x + 5)(2x + 3)
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14.   4x2 + 16x + 15 = _______________

15.   2x2 – 5x + 3 = ______________
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17. 5x2 – 11x + 2 = _______________ 

18. 5x2 – 32x + 12 = ______________

19. 2x2 + 3x – 5 = ________________ 
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18. 5x2 – 32x + 12 = ______________

19. 2x2 + 3x – 5 = ________________ 

Algebra I  Class Worksheet #2  Unit 11
Factor each of the following.

Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx



17. 5x2 – 11x + 2 = _______________ 

18. 5x2 – 32x + 12 = ______________

19. 2x2 + 3x – 5 = ________________ 
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Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx
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17. 5x2 – 11x + 2 = _______________ 

18. 5x2 – 32x + 12 = ______________

19. 2x2 + 3x – 5 = ________________ 
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17. 5x2 – 11x + 2 = _______________ 

18. 5x2 – 32x + 12 = ______________

19. 2x2 + 3x – 5 = ________________ 
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Ex2 + Fx + G = (ax + b)(cx + d) 

E = ac G = bd adx + bcx = Fx

(5x – 1)(x – 2)
-1x

-10x

17. 5x2 – 11x + 2 = _______________ 

18. 5x2 – 32x + 12 = ______________

19. 2x2 + 3x – 5 = ________________ 
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Good luck on your homework !!




